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SECTION–A 

1. The main enzyme present in gastric juice is:

(1) Lipase
(2) Nuclease
(3) Amylase
(4) Pepsin

1. tBj jl esa mifLFkr çeq[k ,Utkbe gSa%

(1) ykbist
(2) U;qfDy,t+
(3) ,ekbyst
(4) isfIlu

2. SO2 is:

(1) Alkaline (2) Acidic
(3) Neutral (4) Amphoteric

2. lYQj&MkbZ&vkWDlkbM gS%

(1) {kkjh; (2) vEyh;
(3) mnklhu (4) mHk;/kehZ

3. Urea contains:

(1) 40% N (2) 46% N
(3) 50% N (4) 52% N

3. ;wfj;k esa ik;k tkrk gS%

(1) 40% N (2) 46% N
(3) 50% N (4) 52% N

4. Banana is propagated through:

(1) Seeds
(2) Suckers and corms
(3) Grafting
(4) Layering

4. dsyk fuEu ds ek/;e ls izof/kZr gksrk gS%

(1) cht
(2) var%HkwLrkjh rFkk ?kudan
(3) dye cka/kuk
(4) nkc yxkuk

5. Phenol reacts with zinc dust gives:

(1) Benzene
(2) Toluene
(3) Zinc phenoxide
(4) Acetylene

5. fQuky tLrs ds pw.kZ ds lkFk fØ;k djds nsrk gS%

(1) csUthu
(2) Vkyqbu
(3) ftUd QhukDlkbM
(4) ,lhVhyhu

6. Malling IX is a rootstock of:

(1) Apple
(2) Litchi
(3) Ber
(4) Banana

6. ekfyax IX fdldk ewy c`UÙk gS%

(1) lsc
(2) yhph
(3) csj
(4) dsyk

7. Blind hoeing is possible in:

(1) Rice (2) Potato
(3) Wheat (4) Sugarcane

7. #)o/kZ xqM+kbZ fuEu esa laHko gS%

(1) pkoy (2) vkyw
(3) xsgwa (4) xUuk

8. Serious damage due to shoot and fruit borer is in:

(1) Okra (2) Turnip
(3) Chillies (4) Brinjal

8. ruk rFkk Qy cs/kd ls vf/kd gkfu fdlesa gksrh gS%

(1) fHk.Mh (2) “kyte
(3) fepZ (4) cSxu

9. The division of nucleus is known as:

(1) Cytokinesis
(2) Karyokinesis
(3) Anaphase
(4) Metaphase

9. dsUæd ds foHkktu dks dgk tkrk gS%

(1) lkbVksdkbusfll
(2) dSfj;ksdkbusfll
(3) i”pkoLFkk
(4) e/;koLFkk

10. The Ranikhet disease affects:

(1) Cattle (2) Pig
(3) Fish (4) Poultry

10. jkuh[ksr jksx fuEu dks izHkkfor djrk gS%

(1) xkSi”kq (2) lqvj
(3) eNyh (4) dqôqV

11. Gypsum is recommended in cultivation of:

(1) Sugarcane (2) Potato
(3) Groundnut (4) Sorghum

11. [ksrh ftlesa ftIle dh laLrqfr gS%

(1) xUuk (2) vkyw
(3) ew¡xQyh (4) Tokj
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12. Merino is the breed of:

(1) Goat
(2) Sheep
(3) Pig
(4) Buffalo

12. eSjhuks fuEu dh uLy gS%

(1) cdjh
(2) HksM+
(3) lqvj
(4) HkSal

13. When to irrigate wheat after sowing if only one
irrigation water is available:

(1) 20–25 days
(2) 40–45 days
(3) 60–70 days
(4) 110–115 days

13. ;fn ,d gh flapkbZ ty miyC/k gS rks xsgw¡ dh cqvkbZ ds ckn dc
flpk¡bZ djuh pkfg,%

(1) 20–25 fnuksa esa
(2) 40–45 fnuksa esa
(3) 60–70 fnuksa esa
(4) 110–115 fnuksa esa

14. Scientific name of potato is:

(1) Oryza sativa
(2) Hordeum vulgare
(3) Solanum tubersosum
(4) Arachis hypogaea

14. vkyw dk oSKkfud uke gS%

(1) vksjhtk lVkbok
(2) gkfMZ;e oyxs;j
(3) lksysue V~;wcjksle
(4) ,jsfdl gkbiksft;k

15. Fowl Pox disease affects:

(1) Fish
(2) Pig
(3) Poultry
(4) Cattle

15. dqDdqV ekrk jksx fuEu dks izHkkfor djrk gS%

(1) eNyh
(2) lwvj
(3) dqDdqV
(4) xksi”kq

16. The maximum amount of element required for berseem
fodder is: 

(1) Nitrogen
(2) Phosphorus
(3) Potash
(4) Sulphur

16. cjlhe pkjk ds fy, vf/kdre ek=k esa rRo dh vko”;drk gS%

(2) QklQksjl
(3) iksVk”k
(4) xU/kd

17. Ergot is an important disease of:

(1) Wheat
(2) Sorghum
(3) Pearlmillet
(4) Maize

17. ,jxV fdldk ,d fo[;kr jksx gS%

(1) xsgw¡
(2) Tokj
(3) cktjk
(4) eôk

18. Rice variety IR–36 belongs to the groups of:

(1) Indica (2) Japonica
(3) Javonica (4) Hybrid

18. pkoy dh çtkfr vkbZ vkj&36, lewg dh gS%
(1) bfUMdk (2) tsiksfudk
(3) tsoksfudk (4) ladj

19. In onion, smell occurs due to the presence of?

(1) Sulphur
(2) Phosphorus
(3) Ferrous
(4) Calcium

19. I;kt esa fuEu dh mifLFkfr ds dkj.k cncw vkrh gS%

(1) xa/kd
(2) QkLQksjl
(3) Qsjl
(4) dSfY”k;e

20. Proper time of sowing hybrid maize is:

(1) May I week
(2) June I week
(3) July I week
(4) July II week

20. ladj eôk ds cksus dk mfpr le; gS%

(1) çFke lIrkg ebZ
(2) çFke lIrkg twu
(3) çFke lIrkg tqykbZ
(4) f}rh; lIrkg tqykbZ
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21. Kalyanpur Baramasi is cultivar of:

(1) Bottle gourd
(2) Brinjal
(3) Chillies
(4) Bitter gourd

21. dY;kuiqj ckjkeklh ,d çtkfr gS%

(1) ykSdh
(2) cSaxu
(3) fepZ
(4) djsyk

22. Mycology is the study of:

(1) Bacteria
(2) Algae
(3) Virus
(4) Fungi

22. ekbZdksykWth fuEu dk v/;;u gksrk gS%

(1) thok.kq
(2) dod
(3) fo’kk.kq
(4) Qaxh

23. Which crop is heavily affected by powdery mildew:

(1) Onion
(2) Okra
(3) Peas
(4) Cabbage

23. ikmMªh feYM;w ¼pw.khZ QQw¡n½ ls dkSu lh Qly lokZf/kd {kfrxzLr gksrh
gS%

(1) I;kt
(2) fHk.Mh
(3) eVj
(4) iÙkkxksHkh

24. Which vegetable is grown by transplanting seedlings:

(1) Muskmelon
(2) Cabbage
(3) Carrot
(4) Radish

24. dkSu lh “kkd Hkkth ikS/k jksfir dj mxkbZ tkrh gS%

(1) [kjcwtk
(2) iÙkkxksHkh
(3) xktj
(4) ewyh

25. Azolla is used in cultivation of:

(1) Wheat (2)
(3) Rice (4) Perl millet

25. vtksyk dk iz;ksx fuEu dh [ksrh esa fd;k tkrk gS%

(2) lks?kZe
(3) pkoy (4) iyZ feysV

26. Pungency in onion bulb is due to:

(1) Allyl propyl disulphide
(2) Capsaicin
(3) Curcumin
(4) None of these

26. I;kt esa rh[kkiu fdl dkj.k gksrk gS%

(1) ,ykby çksikby MkbZlYQkbM
(2) dSilsflu
(3) dqjD;wfeu
(4) buesa ls dksbZ ugha

27. Pusa Deepali is a variety of:

(1) Cabbage (2) Radish
(3) Knol-khol (4) Cauliflower

27. iwlk nhikyh çtkfr fdl Qly dh gSa%

(1) iÙkk xksHkh (2) ewyh
(3) xk¡B xksHkh (4) Qwy xksHkh

28. Perbhani Kranti is a variety of:

(1) Onion
(2) Okra
(3) Cauliflower
(4) Carrot

28. ijHkuh Øk¡Urh fdldh çtkfr gS%

(1) I;kt
(2) fHk.Mh
(3) Qwy xksHkh
(4) xktj

29. TDN stands for:

(1) Total Digestible Nutrients
(2) Trans-Omega Diet Nutrients
(3) Total Dietary Nutrients
(4) Trans Dietary Nutrients

29. TDN dk foLrkfjr :i gS%
(1) Total Digestible Nutrients
(2) Trans-Omega Diet Nutrients
(3) Total Dietary Nutrients
(4) Trans Dietary Nutrients

30. Pusa Kanchan is a variety of:

(1) Cabbage (2) Cauliflower
(3) Turnip (4) None of these

30. iwlk dUpu çtkfr gS%

(1) iÙkk xksHkh (2) Qwy xksHkh
(3) “kyte (4) buesa ls dksbZ ugha
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31. Botanically Banana fruit is:

(1) Nut (2) Pome
(3) Berry (4) Drup

31. okuLifrd oxhZdj.k ds vuqlkj dsyk dk Qy gS%

(1) uV (2) ikse
(3) csjh (4) Mªi

32. Lalit and Shweta are the varieties of:

(1) Guava (2) Pomegranate
(3) Aonla (4) Mango

32. yfyr vkSj “osrk fuEu dh fdLesa gSa%

(1) ve:n (2) vukj
(3) vk¡oyk (4) vke

33. Pusa Himani is a variety of:

(1) Carrot (2) Radish
(3) Sweet potato (4) Sponge gourd

33. iwlk fgekuh çtkfr gS%

(1) xktj (2) ewyh
(3) “kdjdan (4) rjksbZ

34. Raphanus sativas L is the botanical name of:

(1) Turnip
(2) Radish
(3) Carrot
(4) None of these

34. jsQsul lVkbol fdldk okuLifrd uke gS%

(1) “kyte
(2) ewyh
(3) xktj
(4) buesa ls dksbZ ugha

35. Arka Jyoti is variety of:

(1) Water melon
(2) Muskmelon
(3) Onion
(4) Bottle gourd

35. vdkZ T;ksfr çtkfr gS%

(1) rjcwt
(2) [kjcwtk
(3) I;kt
(4) ykSdh

36. Bagasse is a by-product of:

(1) Sugarcane
(2) Cotton
(3) Jute
(4) Groundnut

36. [kksbZ fuEu dk ,d miksRikn gS%

(1) xUuk

(3) iVlu
(4) ewaxQyh

37. Nucleic acids are:

(1) Micro molecular compounds
(2) Macro molecular compounds
(3) Micro and macro molecular compounds
(4) Non-molecular compounds

37. U;wfDyd vEy gSa%

(1) y?kq vk.kfod ;kSfxd
(2) nh?kZ vk.kfod ;kSfxd
(3) y?kq ,oa nh?kZ vk.kfod ;kSfxd
(4) vu vk.kfod ;kSfxd

38. Silk is the secretion of:

(1) Salivary glands
(2) Thoracic glands
(3) Abdominal glands
(4) None of these

38. js”ke fdldk lzko.k gS%

(1) ykjxzfUFk;ksa dk
(2) o{k xzfUFk;ksa dk
(3) mnj xzfUFk;ksa dk
(4) buesa ls dksbZ ugha

39. “Regional Centre of International Rice Research
Institute” is recently established in India at:

(1) Varanasi
(2) Lucknow
(3) New Delhi
(4) Hyderabad

39. ^jhftuy lsaVj vkQ baVjus”kuy jkbl fjlpZ baLVhV~;wV* dh gky gh esa
Hkkjr esa dgka LFkkiuk dh xbZ gS\

(1) okjk.klh
(2) y[kuÅ
(3) ubZ fnYyh
(4) gSnjkckn

40. The innermost layer of the human gut wall is:

(1) Serosa
(2) Mucosa
(3) Stratum spinosum
(4) None of these

40. ekuo vkgkjuky fHkfÙk dk lcls Hkhrjh irZ gS%

(1) lsjkslk
(2) E;wdkslk
(3) LVªsVe Likbuksle
(4) buesa ls dksbZ ugha
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41. Sucrose consists of:

(1) Glucose and Galactose
(2) Glucose and Fructose
(3) Fructose and Galactose
(4) Glucose, Fructose and Galactose

41. “kdZjk esa ik;k tkrk gS%

(1) Xyksdkst vkSj xSySDVkst
(2) Xywdkst vkSj ÝDVkst
(3) ÝDVkst vkSj xSySDVkst
(4) Xywdkst] ÝDVkst vkSj xSySDVkst

42. Phenol on distilling with zinc dust gives:

(1) Benzene (2) Toluene
(3) Zinc phenoxide (4) Acetylene

42. ftUd ikmMj ds lkFk fQuky dks Vidkus ij feyrk gS%

(1) csUthu (2) VkyqbZu
(3) ftUdfQuksDlkbM (4) ,lhVhyhu

43. The edible part of mango is:

(1) Endocarp
(2) Epicarp
(3) Endosperm
(4) Mesocarp

43. vke dk [kk| Hkkx gS%

(1) vUr%fHkfÙk
(2) QyhfHkfÙk
(3) Hkzw.kiks’k
(4) e/;fHkfÙk

44. Dibbling is a method of:

(1) Seed sowing
(2) Weeding
(3) Harvesting
(4) Seed grading

44. pksHkuk fuEu dh ,d fof/k gS%

(1) cht cksuk
(2) fujkbZ
(3) dVkbZ
(4) cht Øe fu/kkZj.k

45. During mitosis, the centromere divides at:

(1) Prophase
(2) Metaphase
(3) Anaphase
(4) Telophase

45. lw=h foHkktu esa xq.k&lw= fcUnq vyx gksrk gS%

(1) iwokZoLFkk
(2) e/;koLFkk
(3) i”pkoLFkk

46. Scientific name of soybean is:

(1) Polypogon monspeliensis
(2) Glycine max
(3) Panicum maximum
(4) Cenchrus ciliaris

46. lks;kchu dk oSKkfud uke gS%

(1) ikyhiksxksu ekSaliSfy,fUll
(2) Xykbflu eSDl
(3) IySuhde eSDlhee
(4) lSaØl flfy;kfjl

47. Mulberry fruit is:

(1) Sorosis (2) Drupe
(3) False fruit (4) Syconus

47. “kgrwr dk Qy gS%

(1) lksjksfll (2) Mªwi
(3) vlR; Qy (4) lkbdksul

48. Short day plant is:

(1) Tomato
(2) Pepper
(3) Soybean
(4) Sunflower

48. vYi çdk”kh; ikS/kk gS%

(1) VekVj
(2) fepZ
(3) lks;kchu
(4) lw;Zeq[kh

49. Scientific name of grape is:

(1) Vitex negundo
(2) Vitis vinifera
(3) Prunus dulcis
(4) Juglans

49. vaxwj dk oSKkfud uke gS%

(1) okbVSDl usxaqnks 
(2) okbfVl okbfuQsjk 
(3) izwuql MfYll 
(4) tqxySUl 

50. The inflorescence of barley is:

(1) Cymose (2) Racemose
(3) Compound (4) Special

50. tkS esa iq’iØe gksrk gS%

(1) llhek{kh (2) vlhek{kh
(3) la;qä (4) fof”k’V
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51. The coriander flower is:

(1) Capitulum
(2) Spadix
(3) Catkin
(4) Umbel

51. /kfu;k dk Qwy gS%

(1) dsfipqye
(2) LiSfMDl
(3) dSVfdu
(4) vEcsy

52. Ratooning is practiced in which of the following
crops?

(1) Grain sorghum
(2) Finger millet
(3) Sunflower
(4) Sugarcane

52. fuEu esa ls dkSu&lh Qly esa jSVwfuax dh tkrh gS\

(1) xzsu lksj?ke
(2) fQaxjfeysV
(3) lwjteq[kh
(4) xUuk

53. Number of stamens in green gram is:

(1) 5 (2) 8
(3) 10 (4) 12

53. ew¡x esa iqadsljks dh la[;k gksrh gS%

(1) 5 (2) 8
(3) 10 (4) 12

54. Pitcher plant is:

(1) Parasitic (2) Symbiont
(3) Autorophic (4) Insectivorus

54. dy”k ikni gS%

(1) ijthoh (2) lgthoh
(3) Loiks’kh (4) dhVgkjh

55. ‘Allahabad Safeda’ is the variety of :

(1) Mango (2) Grapes
(3) Banana (4) Guava

55. ^bykgkckn lQsnk* fuEu dh ,d fdLe gS%

(1) vke (2) vaxwj
(3) dsyk (4) ve:n

56. Bhadawari buffalo is identified by which one body
colour? 

(1) Black
(2) Copper
(3) Light black
(4) Grey

56. “kjhj ds dkSu ls jax ls Hknkojh HkSal dks igpkuk tkrk gS%

(2) rkafEc;k
(3) gYdk dkyk
(4) /kwlj

57. Dew lap is located on which body part of a cow among
the followings?

(1) Between hind legs
(2) Between horns
(3) Between forelegs
(4) Lower side of the neck

57. fuEukafdr esa ls xk; ds fdl “kjhj Hkkx ij xy dEcy gksrk gS\

(1) fiNyh Vkxksa ds e/;
(2) lhxksa ds e/;
(3) vxyh Vkxksa ds e/;
(4) xnZu ds uhps

58. Alfisol is a type of:

(1) Red Soil
(2) Black Soil
(3) Desert Soil
(4) Laterite Soil

58. ,sYQhlksy fuEu dh ,d dksfV gS%

(1) yky e`nk
(2) dkyh e`nk
(3) jsfxLrkuh e`nk
(4) ySVsjkbV e`nk

59. Which one among the following is a legumenous
fodder:

(1) Maize (2) Sorghum
(3) Oat (4) Cowpea

59. fuEukafdr esa ls dkSu&lk pkjk f}nyh; gS\

(1) eôk (2) Tokj
(3) tbZ (4) yksfc;k

60. Which one is cucurbit:

(1) Pea
(2) Okra
(3) Bottle gourd
(4) Carrot

60. buesa dqdqjfoV dkSu lk gS%

(1) eVj
(2) fHk.Mh
(3) ykSdh
(4) xktj
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61. Which one is cole-crop:

(1) Knol-khol
(2) Muskmelon
(3) Sweet potato
(4) Radish

61. buesa ls dksy Øki dkSu lh gS%

(1) xk¡B xksHkh
(2) [kjcwtk
(3) “kdjdan
(4) ewyh

62. Family of sweet potato is:

(1) Convolvulaceae
(2) Cucurbitaceae
(3) Umbelliferae
(4) Cruciferae

62. “kdjdan dk dqy gS%

(1) duokyoqyslh
(2) dqdqjfoVslh
(3) vEosyhQsjh
(4) ØwlhQsjh

63. Golden rice, which is genetically modified, is rich in:

(1) Vitamin A (2) Vitamin B1
(3) Vitamin K (4) Vitamin E

63. lqugjh pkoy ¼xksYMu jkbl½] tks vkuqoaf”kd :i ls la”kksf/kr gksrk gS]
mlesa fuEu esa ls dkSu izpqj ek=k esa gksrk gS%

(1) foVkfeu A (2) foVkfeu B1
(3) foVkfeu K (4) foVkfeu E

64. Punjab Chhuhara is a variety of:

(1) Turnip (2) Carrot
(3) Radish (4) Tomato

64. iatkc Nqgkjk çtkfr gS%

(1) “kyte (2) xktj
(3) ewyh (4) VekVj

65. Pteridophyta are also called:

(1) Vascular plants
(2) Vascular cryptogams
(3) Phanesogams
(4) None of these

65. VsfjMksQkbZVk Hkh dgykrs gSa%

(1) lEcfguh ikS/ks
(2) lEcfguh viq’iksn~fHkn
(3) iq’iksn~fHkn
(4) buesa ls dksbZ ugha

66. The physical basis of life is:

(1) Cytoplasm
(2) Protoplasm
(3) Endoplasm
(4) Nucleoplasm

66. thou dh HkkSfrd vk/kkjf”kyk gS%

(1) Øks”kkæO;
(2) thoæO;
(3) vUrZæO;
(4) dsUæd æO;

67. The male inflorescence of maize is known as:

(1) Cob (2) Tassel
(3) Panicle (4) Ear

67. eDds dk uj iq’iØe dgykrk gS%

(1) xqYyh (2) oYyj
(3) iq’ixqPN (4) ckyh

68. A true fruit is developed:

(1) From thalamus
(2) From nucellus
(3) From ovary
(4) From ovule

68. ,d okLrfod Qy fodflr gksrk gS%

(1) iq’iklu ls
(2) chtk.Mdke ls
(3) v.Mk”k; ls
(4) chtk.M ls

69. Meiotic division takes place in:

(1) Leaf
(2) Anther
(3) Stem
(4) Root

69. v)Zlw=h foHkktu gksrk gS%

(1) iÙkh esa
(2) ijkxdks’k esa
(3) rus esa
(4) tM+ esa

70. ‘Pusa Nanha’ is the variety of:

(1) Mango
(2) Banana
(3) Papaya
(4) Guava

70. ^iwlk uUgka* fuEu dh ,d fdLe gS%

(1) vke
(2) dsyk
(3) iihrk
(4) ve:n



SECTION–B 

71. Anil sells a table to Kamal at a profit of 10% and Kamal
sells it to Rajat at a profit of 12%. If Rajat pays ` 246.40
for it, then how much had Anil paid for it?

(1) ` 220 (2) ` 215
(3) ` 200 (4) ` 233

71. vfuy ,d est dks 10% ykHk ij dey dks csprk gS vkSj dey
12% ykHk ij jtr dks csprk gSA ;fn jtr blds fy;s ` 246.40
dk Hkqxrku djrk gS] rks vfuy us fdruk Hkqxrku fd;k gksxk%

(1) ` 220 (2) ` 215
(3) ` 200 (4) ` 233

72. It takes 8 people working at equal rates to finish a
work in 96 days. How long will 6 workers take for the
same work?

(1) 124 days (2) 125 days
(3) 128 days (4) 122 days

72. ,d dk;Z dks 8 vkneh leku nj ls dke djrs gq, 96 fnu esa iwjk
djrs gSaA 6 vkneh Bhd mlh dk;Z dks iw.kZ djus esa fdrus fnu
yxk,xsa%

(1) 124 fnu (2) 125 fnu
(3) 128 fnu (4) 122 fnu

73. A bag contains rupee, 50 paise, 25 paise and 10 paise
coins in the proportion 1:3:5:7. If the total amount is `
22.25, find the number of coins of each kind:

(1) ` 1, 5; 50 paise 25; 25 paise, 15; 10 paise, 25
(2) ` 1, 5; 50 paise 15; 25 paise, 25; 10 paise, 35
(3) ` 1, 5; 50 paise 25; 25 paise, 15; 10 paise, 35
(4) ` 1, 5; 50 paise 25; 25 paise, 25; 10 paise, 25

73. ,d FkSys esa] #i,] 50 iSls] 25 iSls] vkSj 10 iSls ds flôs Øe”k%
1:3:5:7 ds vuqikr gSA ;fn dqy jde ` 22.25 gSA rks çR;sd çdkj
ds flôksa dh la[;k Kkr djsa%

(1) ` 1, 5; 50 iSls 25; 25 iSls, 15; 10 iSls, 25
(2) ` 1, 5; 50 iSls 15; 25 iSls, 25; 10 iSls, 35
(3) ` 1, 5; 50 iSls 25; 25 iSls, 15; 10 iSls, 35
(4) ` 1, 5; 50 iSls 25; 25 iSls, 25; 10 iSls, 25

74. 13 chairs and 5 tables were bought for ` 8280. If the
average cost of the table will be ` 1227, what is the
average cost of a chair?

(1) ` 175
(2) ` 165
(3) ` 2145
(4) None of these

74. 13 dqflZ;ka ,oa 5 est ` 8280 esa [kjhnh xbZA ;fn est dh vkSlr
ykxr ` 1227 gS] rks dqlhZ dh vkSlr ykxr fdruh gksxh%

(1) ` 175
(2) ` 165
(3) ` 2145

75. If by selling 110 apples, the cost price of 120 apples is
realised. The gain % is?

(1) %
9
111 (2) %

9
19

(3) %
11
1010 (4) %

11
19

75. ;fn 110 lscksa dks cspdj] 120 lscksa dh ykxr ewY; olwy dh tkrh
gS rks ykHk % gS\

(1) %
9
111 (2) %

9
19

(3) %
11
1010 (4) %

11
19

76. What value will you obtain if 25% of 2340 is subtracted
from 4/9 of square of 36?

(1) 9 (2) –9
(3) 6 (4) None of these

76. ;fn 2340 ds 25 çfr”kr ls 36 ds oxZ dk 4/9 ?kVk fn;k tk;s rks
D;k eku çkIr gksxk\

(1) 9 (2) –9
(3) 6 (4) buesa ls dksbZ ugha

77. A is shorter than B but much taller than E. C is the
tallest and D is little shorter than A. Who is the
shortest?

(1) A (2) E
(3) C (4) D

77. A B ls NksVk ysfdu E ls T;knk yEck gS C lcls yEck vkSj 'D'
'A' ls FkksM+k NksVk gSA dkSu lcls NksVk gS%

(1) A (2) E
(3) C (4) D

78. Find the wrong number in the series.

12, 237, 406, 527, 604, 657 
(1) 406
(2) 604
(3) 657
(4) None of these

78. J`a[kyk esa xyr la[;k igpkusaA

12, 237, 406, 527, 604, 657 
(1) 406
(2) 604
(3) 657
(4) buesa ls dksbZ ugha
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79. Observe the following diagram carefully and find out
the particular portion which represents for those
women who are employed but not married.

(1) 2 (2) 3
(3) 4 (4) 6

79. fuEufyf[kr js[kkfp= dks voyksdu djsa rFkk ml fgLls dks cryk,a]
tks mu efgykvksa tks fd jkstxkj esa gSa ysfdu vfookfgr gSa] dks
çnf”kZr djrk gS%

(1) 2 (2) 3
(3) 4 (4) 6

80. In the following series one term is wrong. Find the
wrong term:

20480, 10240, 5120, 2550, 1280
(1) 5120 (2) 10240
(3) 2550 (4) 1280

80. fuEufyf[kr J`a[kyk esa ,d in xyr gSA xyr in dks igpkusa%

20480, 10240, 5120, 2550, 1280
(1) 5120 (2) 10240
(3) 2550 (4) 1280

81. If ‘OPTIONAL’ is written as ‘ITPOLANO’ how is
‘PRACTICE’ written is that code?

(1) RPACITEC
(2) CARPECIT
(3) CRAPECTI
(4) CRAPEICT

81. ^OPTIONAL* dks ,d dksM esa ^ITPOLANO* fy[kk tkrk gS rks
^PRACTICE* dks mlh dksM esa D;k fy[kk tk,xk%

(1) RPACITEC
(2) CARPECIT
(3) CRAPECTI
(4) CRAPEICT

82. Calf is related cow in the same way as cat is related to
____:

(1) Puppy
(2) Kitten
(3) Colt
(4) Cub

82. cNM+s dk xk; ls ogh lEcU/k gS tks fcYyh dk

(1) fiYys ls
(2) fdVsu ls

(4) “kkod ls

83. Which profession represents highest percentage of
members in the sixteenth Lok Sabha?

(1) Advocate
(2) Agriculturists
(3) Social Worker
(4) Business Person

83. lksygoha yksd&lHkk esa fdl is”ks ds lnL;ksa dk lcls T;knk çfr”kr gS%

(1) ,MoksdsV
(2) Ñ’kd
(3) lektlsoh
(4) O;olk;h

84. Planet that rotates clockwise:

(1) Earth (2) Venus
(3) Mars (4) Pluto

84. og xzg tks nf{k.kkorZ ?kw.kZu djrk gS%

(1) i`Foh (2) “kqØ
(3) eaxy (4) IywVks

85. Vice President of India who served for two
consecutive terms:

(1) K.R. Narayanan
(2) Zakir Hussain
(3) V.V. Giri
(4) Dr. Sarvapalli Radha Krishnan

85. Hkkjr ds dkSu&ls ,d ek= mi&jk’Vªifr gSa ftUgksaus nks yxkrkj
dk;Zdkyksa dh lsok dh gS%

(1) ds-vkj- ukjk;uu
(2) t+kfdj gqlSu
(3) oh-oh- fxjh
(4) MkW- loZiYyh jk/kk Ñ’.ku

86. Lipulekh Pass is in which state?

(1) Himachal Pradesh
(2) Arunachal Pradesh
(3) Uttarakhand
(4) Sikkim

86. fyiqys[k njkZ fdl jkT; esa gS\

(1) fgekpy izns”k
(2) v:.kkpy izns”k
(3) mRrjk[k.M
(4) flfDde
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87. The President of India is elected by the members of an
electoral college comprising of –

(1) The members of both Houses of the Parliament
(2) The members of both Houses of the Parliament and

the Legislative Assemblies of the States
(3) The elected members of both Houses of the

Parliament and the elected members of the Legislative
Assemblies of the States

(4) The elected members of both Houses of the
Parliament, the elected members of the Legislative
Assemblies of the States and the elected members of
the local bodies

87. Hkkjr ds jk’Vªifr dk fuokZpu ,sls fuokZpdx.k ds lnL; djrs gSa
ftlesa&

(1) laln ds nksuksa lnuksa ds lnL; gksrs gSa
(2) laln ds nksuksa lnuksa ds lnL; vkSj jkT;ksa dh fo/kku lHkkvksa ds

lnL; gksrs gSa
(3) laln ds nksuksa lnuksa ds fuokZfpr lnL; vkSj jkT;ksa dh fo/kku

lHkkvksa ds fuokZfpr lnL; gksrs gSa
(4) laln ds nksuksa lnuksa ds fuokZfpr lnL;]  jkT;ksa dh fo/kku

lHkkvksa ds fuokZfpr lnL; vkSj LFkkuh; fudk;ksa ds fuokZfpr
lnL; gksrs gSa

88. Who will host 2022 Asian games?

(1) Beijing
(2) Jakarta
(3) Guangzhou
(4) Hangzhou

88. 2022 ,f”k;kbZ [ksyksa dh estckuh dkSu djsxk\

(1) chftax
(2) tdkrkZ
(3) Xokax>km
(4) gSax>km

89. S.D.R with reference to IMF stands for:

(1) Special Dollor Rights
(2) Special Drawing Rights
(3) Single Drawing Rights
(4) Sunk Drawing Rights

89. IMF ds lanHkZ esa S.D.R dk rkRi;Z gS%

(1) fo”ks’k MkWyj vf/kdkj
(2) fo”ks’k vkgj.k vf/kdkj
(3) ,dy vkgj.k vf/kdkj
(4) Mwcr vkgj.k vf/kdkj

90. Select the smallest (computer) memory size?

(1) Terabyte
(2) Gigabyte
(3) Kilobyte
(4) Megabyte

90. Le`fr vkdkj ¼dEI;wVj½ ds fglkc ls lcls NksVs dk p;u djsa%

(2) fxxkckbZV
(3) fdyksckbZV
(4) esxkckbZV

91. Which one of the following is not a computer language?

(1) BASIC
(2) COBOL
(3) LOTUS
(4) FORTRAN

91. fuEu esa ls dkSu ,d daI;wVj Hkk’kk ugha gS\

(1) BASIC
(2) COBOL
(3) LOTUS
(4) FORTRAN

92. ASCII stands for:

(1) American storage code for information interchange 
(2) American standard code for information interchange 
(3) American standard code for incoming information 
(4) None of these

92. ASCII dk rkRi;Z gS%

(1) vesfjdu LVksjst dksM QkWj bUQksjes'ku bUVjpsat
(2) vesfjdu LVSUMMZ dksM QkWj bUQksjes'ku bUVjpsat
(3) vesfjdu LVSUMMZ dksM QkWj budfeax bUQksjes'ku
(4) buesa ls dksbZ ugha

93. Compilers can detect:

(1) Syntax errors
(2) Semantic errors
(3) Logical errors
(4) All of these

93. dEikbYlZ irk yxk ldrk gS%

(1) okD; jpuk =qfV;ksa dks
(2) vFkZ fc’k;d =qfV;ksa dks
(3) rdZ laxr =qfV;ksa dks
(4) mi;qZä lHkh

94. Protein deficiency disease is known as:

(1) Kwashiorkar
(2) Cushing's disease
(3) Gaucher's disease
(4) None of the above

94. çksVhu vYirk jksx dgykrk gS%
(1) dokf'k;ksjdksj
(2) dqf'kax jksx
(3) xkSpj jksx
(4) mi;qZä esa ls dksbZ ugha
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GENERAL ENGLISH 

DIRECTIONS: Fill in the blank with correct preposition. 

95. We travelled ......... Mr. Joshi’s car. 

(1) by
(2) in
(3) from
(4) into

96. He lives ......... 45, Dalal street. 

(1) in
(2) at
(3) into
(4) by

97. In the following question, identify the noun having singular and plural alike:

(1) Aircraft
(2) Species
(3) Sheep
(4) All of the above

DIRECTIONS: Change the following sentence into reported speech and mark the correct option among the choices given: 

98. I said to him, “ your brother is a brave boy”.

(1) I told him that his brother was a brave boy.
(2) I told him that your brother was a brave boy.
(3) I asked him that his brother is a brave boy.
(4) I inquired him that his brother is a brave boy.

DIRECTIONS: Pick the choice closest to the meaning of the word given in capital letters. 

99. VINDICTIVE

(1) Contemptuous
(2) Revengeful
(3) Cruel
(4) Inhuman

DIRECTIONS: Select the nearest Antonyms of the following words out of the given choices. 

100. ARROGANT

(1) Proud
(2) Rude
(3) Servile
(4) Humble 

Subscribe Now 



bl iqfLrdk ij dqN Hkh fy[kus ls igys  
fuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd vkidks lgh fo|k'kk[kk@in dksM dh iqfLrdk 
feyh gS ,oa blesa 100 ç'u gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh@d{k fujh{kd }kjk ç'u iqfLrdk ck¡Vus esa xyrh rks ugha 
gSA ;fn fdlh çdkj dh dksbZ deh@xyrh gks rks i;Zos{kd dks lwfpr djsa rFkk iqfLrdk cny ysaA bl lanHkZ esa fdlh Hkh çdkj dh dksbZ f'kdk;r ij 
ckn esa dksbZ fopkj ugha fd;k tk,xkA 

2. çR;sd xyr mÙkj ds fy, 0.25 _.kkRed vadu gksxkA 
3. ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad ¼1½ ls ¼4½ rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj esa tks Hkh mÙkj 

lgh gS mldks vks ,e vkj mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

4. vks-,e-vkj mÙkj if=dk ij lHkh dk;ks± ds fy, uhys@dkys ckWy Iokb±V isu ls fy[ksaA vks-,e-vkj mÙkj if=dk ij vksoy dks iw.kZ :i ls dsoy 
uhys@dkys ckWy Iokb±V isu ls HkjsaA ,d ckj fn, x, mÙkj dks cnyk ugha tk ldrkA 

5. mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6. dsYdqysVj] LykbM:y] eksckbZy]  dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk ç;ksx ijh{kk d{k esa 
oftZr gSA 

7. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,] vks-,e-vkj- mÙkj if=dk ij dksbZ Hkh jQ+ dk;Z u djsaA fdlh vU; dkx+t ij bls 
djus dh vuqefr ugha gSA 

8. ç'u iqfLrdk ¼A, B, C, ,oa D½ pkj Jà[kykvksa esa gksxhA vkidks vks-,e-vkj- mÙkj if=dk ij lgh ç'u iqfLrdk Jà[kyk fy[kuk gSA 

9. ijh{kk lekfIr ds i”pkr~ vki viuh ç”u&iqfLrdk ,oa vks-,e-vkj- dh dkcZu dkWih ¼vH;FkÊ ds fy,½ ys tk ldrs gSaA vks-,e-vkj- dh ewy çfr 
dks d{k fujh{kd dks lkSai nsaA ;fn vki ,slk ugha djrs gSaA rks vkidh ik=rk fujLr dj nh tk,xh ,oa vki ij vkijkf/kd dk;Zokgh dh tk,xhA 

10. gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa dksbZ Hkh dfVax ;k 
vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh vuqokn laLdj.k esa fdlh Hkh fHkérk gksus ij ewY;kadu ds fy, vaxzsth 
laLdj.k dks vfUre ekuk tk;sxkA 
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